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PHILOSOPHY — GENERAL

Paper : GE/CC-3

Full Marks : 65
Candidates are required to give their answers in their own words

as far as practicable.
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(AB)  (A·B)

A·B /  AB

(p  q)  (p·q) /  (p  q)·(q  p)

K  L

K /   L

[English Version]
The figures in the margin indicate full marks.

1. Answer any ten questions : 1×10

(Choose the correct answer from the given alternatives in each question.)

(a) In which of the following proposition both the subject and predicate terms are distributed?
(i) Some glittering objects are not gold.
(ii) No glittering object is gold.
(iii) Some glittering objects are gold.
(iv) All glittering objects are gold.
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(b) The obversion of ‘All S are P’ is
(i) no S are non-P (ii) some S are not non-P

(iii) no non-S are P (iii) some P are S.

(c) In which of the following syllogistic forms involve the fallacy of undistributed middle—
(i) AAA–3rd Figure (ii) EIO–1st Figure

(iii) IAA–4th Figure (iv) AAI–2nd Figure.

(d) The figure of a syllogism is determined by the position of the
(i) major term (ii) minor term (iii) middle term (iv) copula

(e) Which one of the following sentences is correct?
(i) A conjunctive statement is true if all of its conjuncts are true.
(ii) A disjunctive statement is true if both the disjuncts are false.
(iii) A conditional statement is false if the antecedent and consequent are true.
(iv) The truth value of a proposition is same with its negation.

(f) If ‘I’ proposition is false, what will be its corresponding ‘O’ proposition?
(i) True (ii) False

(iii) undetermined (iv) None of these.

(g) Which of the following is equivalent to ‘p  q’?
(i)  p  q (ii)  p  q

(iii)  p   q (iv) p ·  q

(h) ‘Inclusive sense’ of ‘p  q’ means
(i) either p or q (ii) either p or q or both (p·q)

(iii) either p or q but not both (p·q) (iv) neither p nor q ( p· q).

(i) If the middle term remains undistributed in both the premises of a standard form categorical syllogism,
then the fallacy, it commits, is —

(i) Fallacy of four terms (ii) Existential fallacy
(iii) Fallacy of undistributed middle (iv) Fallacy of illicit major.

(j) Which method is used in the following argument. ‘When heat is applied to ice, ice melts’. So heat
is the cause of melting ice.’

(i) Method of Difference (ii) Joint method of Agreement and Difference
(iii) Method of Agreement (iv) Method of Residues.

(k) Which relation of opposition of proposition holds good in modern logic?
(i) Contrary (ii) Contradictory

(iii) Sub-contrary (iv) Sub-alternation.

(l) The Boolean interpretation of the categorical proposition ‘Some S is P’ is

(i) SP 0 (ii) SP  0 (iii) SP 0 (iv) SP = 0
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2. Answer the following questions briefly (any five) : 5×5

(a) What is opposition of proposition? What are the different forms of opposition of proposition?

(b) What is meant by ‘existential import’ of a categorical proposition? Explain with example.

(c) What do you mean by a complementory class? Determine what would be the complementary class
of a complementary class.

(d) Explain why the conversion of ‘O’ proposition is not possible.

(e) What is a null class? What is the significance of null class in Boolean interpretation of categorical
propositions?

(f) Explain briefly the different senses of ‘or’ with appropriate example.

(g) What is Mills’ method of Residues? Explain with a concrete example.

(h) Explain with examples the fallacy of undistributed middle and fallacy of four terms.

3. Answer the following questions (any two) :

(a) (i) What do you understand by a class?

(ii) Explain different categorical propositions with examples on the basis of class-relationship.

(iii) Reduce the following into standard form categorical propositions (any two) :

(I) Straight lines are never curved.

(II) Deductive arguments are always syllogisms.

(III) Metals are generally conductors. 5+8+2

(b) Test the validity of the following argument by Venn Diagram and if invalid, mention the fallacy
committed (any three) 5×3

(i) AII – 2nd Figure

(ii) EEE – 1st Figure

(iii) No horses are centaurs. All Centaurs are mammals. Therefore mammals are not horses.

(iv) Some philosophers are mathematicians. All scientists are mathematicians. Hence, some scientists
are philosophers.

(c) (i) Use truth table to determine the validity or invalidity of the following arguments. (4×3)+3

(I) (AB)  (A·B)

A·B /  AB

(II) (p  q)  (p·q) /  (p  q)·(q  p)

(III) K  L

K /   L

(ii) What is the truth-condition of a disjunctive statement form?

(d) Explain and examine Mills’ method of Difference. 10+5


